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1. RRTE
SRR 5 W=900 10. 6m*7. 31="77. 48 =77.5 77.5| m
I TAHELFH P B 6%1=6 6.0] &
i A 7.31%5=36. 55 =36.6 36.6| m
7 PEZN 47" H5, 400 3k1=3 3.0 7Pt
N F AN WISOOHLAZHH 1 1.0 7 pr
l EIiEE: ZAsp SMEVAL (10. 647.3) + (0.9%7.3) + (1.8%7.3) =97.09 97.1| of
i BHTEE 4 tazy) 10. 6%7. 31=77. 38 77.5| nf
% TBAIE BR & H5. 4m+E528. 3m+PH9. 1m =42. 8m 42.8| m
o AR Y W12t T T B — PRI IR 2+ B KB i 5 1 2+ KL 1 =5 5.0/ [=l
BN E R IV-VRR BT 1 H2 A*4[0] =8 8.0
J AT iR RIBREANICHS 2190t 219.0| nof
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— & E & No. 2
4 g7 7
2. MERELF
BEAESE I 7 /A S AR 2= H) [J-75%45%2. 3%3. 1 1 1.0 » 7l
I 1) O-75%45%2. 3%3. 1 1 1.0| 7 Fr
BEAZ S5 I8 7 =/ ACON B R 55 H) 0.3%0. 7%0. 3 1 1.0 » 7l
I 1) 0.7%1.0%0.3 1 1.0| » 7t
BEAET SR KED 0 i B+ + 7 + A 5.4+28.1+10. 0+21. 3=64. 8 64.8| m
BETETVATV ) MifZs Bl 21.3 21.3| m
BEAA-)V) s A 21.3%2=142.6 42.6| m
BETEBA K R = iR 180. 4nf (CADT —#—=12 kL %) 180.0| nf
n A= FHEE M H250 (1. 47+5. 38+28. 32+0. T+1. 42) *0.25=9.3 9.3 of
i STk R H400 6. 4%0. 4=2.6 2.6| nf
l 37k el H300 21. 85%0. 3=6.6 6.6| nof
i SEE K W160 (5. 32+0. 7+7. 2+1. 95) *0.16=2. 4 2.4| nf
n VAN W220 28. 3%0. 22=6. 2 6.2| of
BETEN VAR WP 1+1=2 2.0| 7 7
BEAE B B b — % —BOXHZ= 200%200%100 14 4.0\ » Bt
[l AR H B CV3. 5+CVVS2. 0 43.5%3=130.5 131.0| m
ZEFRN VB 15¢ 10 10.0| m
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BTITAF v ey — MK 207. 1%2. 9=600. 5 =601 2.9k g/m) 601.0| kg
I =) (21.3%0.39) + (21.3%0.13) =11.0 11.0| kg
&R T (713) TVIAEA 8%1.2=9.6 (1.2k g/m) 9.6| kg
I Tk ) 21. 3%0.8=17. 04 =17.0 (0.8k g/m) 17.0| kg
I VA2 21. 3%0. 4=8. 52 =8.5 0.4k g/m) 8.5| kg
I #<F) FIET /A 3. 1%2%4. 1=25. 42 =95.4 (4.1k g/m) 25. 4| kg
I G TG 130. 5%0. 2=26. 1 0.2k g/m) 26. 1| ke
avyy=p B/ 7y AR (0. 3%0. 7%0. 3)*2. 3) )+ ( (0. 74%1. 0%0. 3) *2.3) =0.655 =0. 66 (2.3t /nt) 0.66| t
(K]
BTITAF v e — MK 207. 1%2. 9=600. 5 =601 (2.9k g/mi) 601.0| kg
I y=v)° (21.3%0.39) + (21.3%0.13) =11.0 11.0| kg
&R T (713) TVIAEA 8%1.2=9.6 (1.2k g/m) 9.6| kg
I Tk ) 21. 3%0.8=17. 04 =17.0 (0.8k g/m) 17.0| kg
I TWTV) 21. 3%0. 4=8. 52 =8.5 0.4k g/m) 8.5| kg
I (#<F) FIET /A 3. 1%2%4. 1=25. 42 =95.4 (4.1k g/m) 25. 4| kg
I G TG 130. 5%0. 2=26. 1 0.2k g/m) 26. 1| ke
avyy=p B/ 7y AR (0. 3%0. 7%0. 3)*2. 3) )+ ( (0. 74%1. 0%0. 3) *2.3) =0.655 =0. 66 (2.3t /nt) 0.66| t
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BTITAF v ey — MK 207. 1%2. 9=600. 5 =601 2.9k g/m) 601.0| kg
I y=v)° (21.3%0.39) + (21.3%0.13) =11.0 11.0| kg
&R T (713) TVIAEA 8%1.2=9.6 (1.2k g/m) 9.6| kg
I Tk G) 21. 3%0.8=17. 04 =17.0 (0.8k g/m) 17.0| kg
I VA2 21. 3%0. 4=8. 52 =8.5 0.4k g/m) 8.5| kg
I (#<F) FIET /A 3. 1%2%4. 1=25. 42 =95.4 (4.1k g/m) 25. 4| kg
I G TG 130. 5%0. 2=26. 1 0.2k g/m) 26. 1| ke
avyy=p CE#) 7y AR (0. 3%0. 7%0. 3)*2. 3) )+ ( (0. 74%1. 0%0. 3) *2.3) =0.655 =0. 66 (2.3t /nt) 0.66| t
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g7 B iy s
. EETE '
HTHALT 2/ AZE R (H+ 1) BUPERE AT FT R H300 2 20| » 7
I ERAHIN T AA ST DI0@200 KL 2 2.0 »
n HEar))-h Fc21/15/25 H) (0. 5+0. 6)*0. 45/2%0. 3)) +(0. 25%0. 47/2%0. 3))+ 1) ((0.6+0.7)*0.55/2%0.3)) =0.18 =0.2ni 0.2 m
N /)= MTER 2 2.0 # At
7 Kz 797 x. 2 2.0| 7Pt
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— & E & No 6
4 Fiin B H 7
b, &BI1EH T
HRBIET 2/ AR+ R 2 [J90%45+%3. 2%4. 2 STKMR 2 ol &
" RRL SR A > % 2 0| &
U REVEST =5 W M12 L1200 472 4#2%3=24 24.0| &
I VT - 4%2%3=24 24.0| &
WEAE SRR v i 19 19. 0| » 7
BEAF SCRERIERE Wb ™ b oy [J100%100 19 19. 0| » 77
BEF S BT 2V AV Y- KR i EAt 8 Bt 39. 548 =316 316.0| m
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6. THIMETE l
& e S Hj 180. 4ni (CADF —-#-12 & D) =180.0 180.0| m
I %y (1.2%26.5) + (1.2%5.8) + (0.15%26.0) + (0.15%5.0) =43.41 =43.4 43.4| m
n Ayl = WMl H250 (1. 47+5. 38+28. 32+0. 7+1. 42) *0.25=9. 32 9.3 9.3 m
I byl = FE 1400 6. 4%0. 4=2. 56 2.6 2.6| m
I AV Bl ] H300 21. 85%0. 3=6. 55 6.6 6.6 m
I S E KB W60 (5. 32+0. 7T+7. 2+1. 95) *0. 16=2. 42 2.4 2.4 m
n Sk RdE S w220 28. 3%0. 22=6. 22 6.2 6.2 m
H ST G+F (0.6+0.3) *2%0.3%16) =8. 64 =8.6 8.6| nt
I FEREST | H+1 ((0. 55+0. 6+0. 35+0. 54+0. 3) *0.3) + ( (0. 6+0. 45+0. 5+0. 33+0. 33) *0.3) =1.36 =1.4 1.4| nof
THFERE BAREVIVER b=l (1.2%26.5) + (1.2%5.8) + (0.15%26.0) + (0.15%5.0) =43. 41 243.4 43. 4| nof
I byl = HAFM H250 (1. 47+5. 38+28. 32+0. T+1. 42) *0.25=9. 32 =9.3 9.3 m
n Ryl o [EEE H400 6. 4%0. 4=2. 56 =2.6 2.6 m
I = Bl il H300 21. 85%0. 3=6. 55 6.6 6.6| o
I SEE R W160 (5. 32+0. 7T+7. 2+1. 95) *0. 16=2. 42 =2.4 2.4 m
n AL SN W220 28. 3%0. 22=6. 22 6.2 6.2| m
U HpfEST G+F (0. 6+0. 3) *2%0. 3%16) =8. 64 8.6 8. 6| nt
H ST H+T ((0. 55+0. 6+0. 35+0. 54+0. 3) *0.3) + ( (0.6+0.45+0.5+0. 33+0.33) *0.3) =1.36 =1.4 1.4| of
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— & E & No 8
Z4 R ) H 3
7. PikTH |
BV AVBsAK SPT-300 [T 180. 4ni (CADF —4-12 % 3) =180. 0 180.0| m
I SPM-200L |4 % 2V (1.2%26.5) + (1.2%5.8) + (0.15%26.0) + (0.15%5.0) =43.41 43,4 43. 4| m
n Ayl = BRIl H250 (1. 47+5. 38+28. 32+0. 7+1. 42) *0.25=9. 32 9.3 9.3 m
I SE b FE 1400 6. 4%0. 4=2. 56 2.6 2.6| m
I AV Bl H300 21. 85%0. 3=6. 55 6.6 6.6 m
I SEbE K@ W160 (5. 32+0. 7T+7. 2+1. 95) *0. 16=2. 42 2.4 2.4 m
n Sk RdE S w220 28. 3%0. 22=6. 22 6.2 6.2 m
H ST G+F (0. 6+0.3) *2%0.3%16) =8. 64 =8.6 8.6| nt
I FEREST | H+1 ((0. 55+0. 6+0. 35+0. 54+0. 3) *0.3) + ( (0. 6+0. 45+0. 5+0. 33+0. 33) *0.3) =1.36 =1.4 1. 4| nof
BEAKSRRTY )" v TF-4 A 21.3 21.3| m
BEKSRART )V v=v) JEMIMS—2  10%10 21.3 21.3| m
HHLT VK] Je 21.3 21.3| m
HHLT VKDY Bhwy-))” JEMIMS-2  30%10 21.3 21.3| m
BERLA e 1+1=2 2. 0|7t
BEAET VAR T U B + 7 + A 2.6+24. 6+10. 0=37. 2 37.2| m
BT VAR A U W=225 HIFH+EHRL. 6m 1+1=2 .0l At
KfE e 2 AT .0l P
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